- | 2022 (A) C 7//9) A

SSC PART-lI (10th CLASS)

MAGHEMATICS (SCIENCE GROUP) GROUP-I ke - o/ (o SO G
TIME ALLOWED: 2.10 Hours SUBJECTIVE (L2 2210 = <
MAXIMUM MARKS: 60 60 = Af
NOTE: Write same question number _.f_@;;uﬂ%{;glrﬁ?._éaxﬁ/ﬂzzsl/:}gj!r@:{géwlﬁ L

and its part number on answer book, as given in the question paper.

SECTION-l Jsl_»

2. Attempt any six parts. 12=2x6 g fe Wizl e 3 24 )y
(i)  Define quadratic equation. _é._é!f’gf.:,l;b*du» (i)
(i) Write the quadratic equation in standard form. (x+7)(x-3)=-7 qp:“"&ptsdji_yf_-,uvdw: (i)
(i) Solve by factorization. x> — x — 20 =10 %% = 20=10 _é:fc..u&jf:— (iii)
(iv) Discuss the nature of the roots of equation. x>+ 3x + 35 =10 X +3x+5=0 __éﬁé{ru’Juj!Ji&'ﬁb‘ (iv}
V) Evaluate (1-o - v?) (l-0-0’) gved W
(vi) Without solving, find the sum and product of roots of equation. -gf;/(:b’,e/"f bastost K‘ﬂ;ﬁé Sehls  (vi)
x'-5x+3=0
(vii) Define ratic and give one example. -é)dlf:‘bg”ﬁé_éf/s{f&f‘; {vii)
(viii) If 3(4x —5y) =2x — 7y, find the ratig x_ y S8 T 3(4x — 5y) =2x - 7y (viii)
(ix} f RcT?and R =8 when 7 =3 - T:ﬁ,&fzs{rﬁf RyieT=3_2 R=8 . ReT? S (ix)
find R when 7' =6
3. Attempt any six parts. 12=2x6 -éff@@fﬁiilﬂggdf 234U
() Define a fraction and give an example. S JedingE s 25 )
(i) Find partial fractions of LI 3 e T I A (1)
(x+1)(x-=1) (x+1D)(x-1) '
(i) X ={1,4,7,9}and¥ ={2,4,5,9} A XUV e ¥ ={2,4,5 9 X ={1,4,7,91 S {ii)
then find X JV
(iv) Define a subset and give one example. I S ONE Ty 3y (1Y)
(v) IfL={a b, c}and M = {3, 4} then find _,_;(:L’“‘J;JUJJ@)L M x LinM ={3,4}sL ={a,b, Wi (v)

two binary relations of M x L

(vi) Find @ and b |, if (3-2a,b-1)=(a-7,2b+5) SIS b osa (i)
(vii) Find the geometric mean of the observations 2, 4, 8. -._»;flr}’”bnlu’,gfl_ié 2, 4, 8=le (Vi)
(viil) The salaries of five u__éf}”;;’ 11500, 12400, 15000, 14500, 14800 -u_gdjjaﬁ(ufu;'u)uglfmftrlé[_. (viii)

teachers in rupees are as given 11500, 12400, 15000, 14500, 14800. Find range.

(ix) Define standard deviation. _gi»'_@_xﬁu/_i.ﬁrd,gu (ix)

(Eﬂ..fd.u)



4. Attempt any six parts.

‘ {2)
12=2x6

(i)  Define radian measure of an angle. w_-:”'.:(s-é’/‘jdﬂdéz‘xf;!_'f' P i)
(i) Express the following sexagesimal measure cf 45"30',;_ﬂbgff;,%;;w*;g,i)djajaéfé_:ufpfwiﬁi} (ii) o
the angle in decimal form. 45°3(/
(i) Convert the following to degree 5% g’l _é'uf/,-u:d/i u‘_'jf-,ﬂ (iii)
) 6
(iv) Find '£'  when r=15mm, 0 = 60°30' 6 =60"30" r=15x¢ Blob 1 (iv)
(v) Define zero dimension. EaleasF W)
| 7
(vi) Define secant | LIS i)
(vii) Define segment of a circle. _gghéfﬁd/afl)ﬁ (vii)
(viii) Define circle. S5y Ao (vii)
(ix) What is meant by vertex? i’{_,JL/LAE:.JIJ (ix)
SECTION-ll /o2
y ; f Ud A ™ ' 3
24=8x3 e Ui 9w el B S o
: i ut questio 9i : |
NOTE: Attempt any three questions but question No.9 is compulso
5.(A) Solve the equation 2x + 5 = ﬁk—rlé S x+ 5= JTx+16 ehis (LN.5
B) o B un O SPRI AN E BRI AN Y B+ 6=0 bl B0 S (L)
are roots of the equation x° —3x +'6 =0 , Fofim an equatior'whose rootsare o ”, p°
6.(A) If a:b=7:6 then find the vaiue of -ép"ﬂ:ﬁdﬁ 3a+5h:7h-5a ma:b=7:6 S (e
3a+5b:7b - 5a
2 - 2 _n j P -
(B) Resolve into partial fractions. —— ‘23'\”"1 a ‘z"x Hl -;__{/J:Vui‘u;/d:f ()
(x-1)Y(x-2) (x=1)" (x=2)
(B—AY =BUA gt B={1,47,10} 5 A={1,3,579}. U={1,2,3---= 10} Ji (.7
7A) HU={123 === 10}, A4={1,3,5,9}) and B={1,4,7,10}
thenverify (B~ 4) = B'{JA
(B) Calculate variance for the data *g‘;t;’)’ég/,{“’?ts' 10, 8, 9, 7, 5, 12, 8, 6, 8, 2 sy ()
10, 8, 9, 7, 5, 12, 8, B, 8, 2.
leecl +1  sscl 4 -
8.(A)  Verify the identities. [S€¢O +1 _ secf +1 f'se‘“e b1 _seeh +1 Lo el (U8
\ secH -1 tan0 \ secO — | tan®
R A 3 8PS CA|c BC « AB Lluiiag i S AMBC (L)
(B)  Circumscribe a circle about a triangle ABC with sides | AB| = 6cm, | BC|=3cm, |CA| = 4em
9 Prove that a straight line, drawn from i {:w:;",;};bﬁﬂl:i_fl&;‘ﬁ (s2 PSS Spl e St -9

the cenire of a circle to bisect a chord (which is

Prove that any two angles in the same segment

of a circle are equal.

not a diameter) is perpendicular to the chord.

OR |

_g,ff_ﬂ,{',:‘f‘?ll'\jﬁ@IJJ:af'uﬁ;U“‘ugﬁé_JUfé;‘b:h‘
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PAPER CODE 2022 (A) ey
NUMBER' 3191 SSC PART-II (10th CLASS) (t’/

MA’HEMATICS (SCIENCE GROUP) GROUP-I e - ..;3/ -yl u‘“L«) d"L)
TIME ALLOWED: 20 Minutes OBJECTIVE (%2 220 = =
MAXIMUM MARKS: 15 15= AF

Ao o\ /Ln/b,ah—‘&lbd:._,'ﬁ._fuc;,\f’ Iy ‘Jd:c.._:av.!:d'r/, J{J'i .Jj‘zé-‘ D . CB:A :-L‘J’j-'l’édf”/' wnkeid
L2 L b.;_bu;,"‘//[u:’\J'._,u u&._/.rf J(,'/b _f)’ﬂ“"bk..,,'fuu-gfuxf‘ d_../’f L | b L./(JUJJ!JMLJC..J Z=
Note: you have four choices for each objective type question as A, B, C and D. The choice _J)’ J’),’}-_,Lﬂr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The number of terms in a standard quadratic equation _%:lﬁd/uﬁjuf ax’ + bx + ¢ =0 bl (1)
ax'*+bx +c=0 is
(A) 1 (B) 2 () 3 (D) 4
(2) If o, B are the roots of -z aP Junul Txi—x+4=0=hl- @ (P J (2)
7x' - x +4 =0 then ap is:
{(A) " (B) 2 (C) 7 (D) -4
L : * 4 7 1
(3) -+ — is equal to: s — 4 — (3)
%k 1 1 ] a—p o + b a P
(A) — B) ——— (C) (D)
o a B af of
(4) inaproportion g:h::c:d. @ and d arecalled: _uaz_lh d # aJ a:buc:d <«F (4)

(A) Means P (B) Extremes u,f-i,r" (C) Fourth proportional —£##2 (D) None of these lej}(c;.gﬁuﬂ

(5) If 3" ot ]1 then i yle i Ji (5)
PRI ,_ 1 o ST
(A) ¥y~ = o (B) y'= & (C) y'=x" (D) y = Kx
(6) A fraction in which the degree of ..‘L.JU:-'J/ ﬂ’.cl_,uL);;»LC/"_:»%JPJ‘J’-/ (6)
the numerator is greater or equal to the degreeof derfominator is called: (A) A proper fractlon/,..ah
(B) An improper fraction //_.;:hff (C) An equation = /st~ (D) Algebraic relation Jud/i
(7) Aset Q= { bl a,beza b;t(& is called a set of: -tat'LLr".:p: Q:{—-b—ia, bezn b:t()} (7)
J
(A) Whole numbers )waui‘: (B} Natural numbers JU"J);’
(C) Irrational number :Lw!Jbt/-f (D) Rational numbers :lx!J‘!’t
(8) Power set of an empty set is: e breralferde (8)
() 6 (8) {a} () {¢.{a}} ) {4}
(9) Ahistogram is a set of adjacent: & Ma.;:’i)‘d&' (9)
(A) Squares Ku#! s (B) Rectangles §Us*" (C) Circles §Us71s (D) Triangles Kur"'
(10) In a cumulative frequency polygen frequencies et Sl e WAL WU F SRS (10)
are plotted against; (A) Midpoints & QLes
(B) Upper class boundaries u»C"LzJU@ (C) Class limits we($ 1z (D) Lower class boundaries :m&’L?.uj;J
(1) secO cot6 = secO cotb = (11)
. 1 1 sin©
i, B Bk ©) Sne Bl =5
(12) A chord passing through the centre of a circle is called: wle thﬁaul;L;}Q.}f/Lgfl; (12)
(A) Radius (1w (B) Diameter # (C) Circumference L5 (D) Secant Cbﬁ'J:v'
(13) A line which has only one point in common with a circle is called: -« ¢l B3 Le 6 B (13)
(A) Sine of a circle  Sine s (B) Cosine of a circle Cosine € 7h
(C) Tangent of a circle Tangent €. /I: (D) Secant of acircle  Secant $ /)
(14) The length of a chord and B I PUE e s A LS S S e 0Ll (14)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30° (B) 45" (C) 60" (D) 75" .
(18) Aline intersecting a circle is called: -c‘:'_‘\:'llfrbit'/é’l(gjb {15)
(A) Secant C,J’R?J;,»' (B) Tangent W (C) Chord » (D) Diameter )5

30(Obj)( ﬁ)-EOEQ(A)-SDDOO (MULTAN)



PAPER CODE 2022 (A) =N\ A
NU‘MBER: 3193 SSC PART-Il (10th CLASS) )//
MATHEMATICS (SCIENCE GROUP) GROUP-| e - onf (o UV G
TIME ALLOWED: 20 Minutes OBJECTIVE (% >.2 e 20 = =
MAXIMUM 15=
/__Ljf LM ;B/!‘I(J,thjl_?ihfé IR e o 82 )z;::.:c:.L—L.JirfJQE’ulf wic_) D, C:B:A ...J.'.?/Eflp&db’/ f_}f

/9/.—“:’&,}" {d..bl)u‘j"d!(u*_«/r‘d/d_./ J(Jﬁ/f _fyjﬂw_iia/ﬂdu;ﬁgf; /C.ugf L .i_)j;:((_h, fJBJLJ(L—._«( £y
Note: you have four choices for each objective type question as A, B, C and D. The choice - "/ J’/;_.,Ufr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. .
Q.No.1 R
(1) Aline which has only one point in common with a circle is called: ..c_,tLir'/ o SN L P L (M

(A) Sine of acircle  Sine . i (B) Cosine of a circle Cosine §. /I
(C) Tangent of a circle Tangent ke (D) Secant of acircle  Secant b 71
(2) The length of a chord and _En d;Ud)}Uhé,;)s _ug,:lxugl_.x'u'/mmﬂ};u!;.?b.g (2)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30" (B) 45° (C) 60° (D) 75° i
(3) Aline intersecting a circle is called: -q,t‘ilz‘/bt/(f’f:_}b (3)
(A) Secant CI’L?{»‘ (B) Tangent W {C) Chord 7 (D) Diameter /5
(4) The number of terms in a standard quadratic equation _g_)wiJu;Jui ax’+ bx + ¢ =0 ehleflelon (4)
ax’+bx+c=0 s
(A) 1 (B) 2 (€)3 (D) 4 .
(5) f o , [ arethe roots of -4z of ?uﬂgf':xﬁ I —x+4=0cbl B ca Ji (5)
7x*—x+4=0 then af is:
1 + 7 —4
(A) = (B) = © 7 0=
(6) l + L is equal to: - sls ola + é— (6)
o
Pt B) N\l o S oy ELE
a « B of op
(7) Inaproportion a:b:c:d, a and d arecalled: gl d owoa poatbuc d - (7)
A) Means %3 (B) Extremes A (C) Fourth proportional —£#2 (D) None of these (e i
B e B et H]
y o — then -y o — /| (8)
' ._ K ) | ' 2 2 s T
) y'=5 ®) ¥'== © ¥'=x (D) ¥’ = Kx
(9) A fraction in which the degree of -;.Jlly( staleboolie ol T /";J:S’w'( et (9)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction /._x?fs
(B) An improper fraction /y‘-).l}ﬁ,; (C) An equation sl (D) Algebraic relation fd}l
(10) AsetQ :{%M,be zAb iO}iscailedasetof: -‘LE‘WQ{Q: {gia,be 2 s b 0} (10)
(A) Whole numbers wad*", (B) Natural numbers )iﬁ'L:'!'J.:’
(C) lrrational number ;m:dl’tff (D) Rational numbers :w&l’t
(11) Power set of an empty set is: _r_t‘ﬂ.:.u:,u&(.bfdlé (11)
(A) ¢ B) {a} C){¢.{a}} D) {¢}
(12) A histogram is a set of adjacent: e et ,..J’UJK’ (12)
(A) Squares §U» (B) Rectangles KU (C) Circles §Us7ts (D) Triangles €U
(13) In a cumulative frequency polygon frequencies e bl enl _ fendtbunZssA (13)
are plotted against: (A) Midpoints  »&Les
(B) Upper class boundaries »x3 200l (C) Class limits 150z (D) Lower class boundaries sz 25
(14) secB coth = secO cot = (14)
5 1 1 sin®
(A) sind & cosf © sinf ®) cosB
(15} A chord passing through the centre of a circle is called: - t"LkJ/}:Lii;.J_Jch_ ?}..f./.c,_ 7 (15)
(A) Radius v (B) Diameter /5 (C) Circumference k¥ (D) Secant {‘f’i?J?'

30(Obj)( I< I )-2022(A)-50000 (MULTAN)



'PAPER CODE 2022 (A) A

NUMBER: 3195 SSC PART-II (10th CLASS) _

MATHEMATICS (SCIENCE GROUP) GROUP-I ke - .;,;f (.,;:f /u’*’v) Y
TIME ALLOWED: 20 Minutes OBJECTIVE u"%/’,a? L4 20 = =Dy
MAXIMUM MARKS: 15 15= Af

JLIO ;LI/IJWJWLUI‘}MJJC—-Vn u;/;dic..,ad_l/:_Jfr;/dl{d o4 -u"‘;‘fa_: D . CB:A -Uf’.-@le&dlrf b
_.gz‘j.Jfrul _gy(_lpl.:u’“/"uyru-_,/r"ud_./[«/ :(_J:/U Bg!'zr‘blv._.r Fu;:';u"...dr"\)d_dﬁ f | L .’_/,{u:/bul..:c___f 'i‘
Note: you have four choices for each objective type question as A, B, C and D. The choice ,L{/ g)p/;ull')’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) AsetQ = {-g| a,beznb# 0}iscalledaset0f' _z'_L“le—)‘ D= {g| a,beznb+ {}} (1)
(A) Whole numbers ;lﬁld‘{ (B) Natural numbers :Lwl[};;:
(C) Irrational number J'JFJL?L'/:; (D) Rational numbers ,-LwIJ‘E'*‘:
(2) Power set of an empty set is: ~e- bl Kol (2)
(A) © (B) {a} € {9.{a}} RS
(3) A histogram is a set of adjacent: “ .LM.»_.;/.JJ ¢ 3)
(A) Squares §Us (B) Rectangles §Us* (C) Circles §Us/hs (D) Triangles Kur‘"
(4) Inacumulative frequency‘polygon frequencies -q_t@vg‘kw{ﬂ;ﬁw).éi o ful.wuibuﬂulﬁ{;»ﬂd:f (4)
are plotted against (A) Midpoints 530
(B) Upper class boundaries ;wﬁf’lzéﬂ@ (C) Class limits :mgﬁa (D} Lower class boundaries »,w(}’{zq;.i
(5) secH coth = secOcotd = (5) .
in0 5 e Q) 1 0) sin®
(A) sin (8 s ( proers o0
(6) A chord passing through the centre of a circle is called: - L"quv(};Ul;i_J}f;J}Z.L_/’b (8)
(A) Radius (s (B) Diatieter % (C) CircumferenCe L# (D) Secant Cfl?ga'
(7) Aline which has only one point in common with a circle is called: -;.tlkf S5 L5 L e s L (7)
(A) Sine of acircle  Sine Ee_ /I (B) Cosine of a circle  Cosine ke 7l
(C) Tangent of a circle Tangent 6o /is (D) Secant of acircle Secant §.. /s
(8) The length of a chord and by IS H S ey Ut S bk (8)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30° (B) 45° (C) 60° (D) 75 .
(8) Aline intersecting a circle is called: = tﬂqur/cwfz_/’b (9)
(A) Secant £k (B) Tangent U\ (C) Chord Js (D) Diameter 4
(10) The number of terms in a standard quadratic equation ..g_:f,uj;fw@uf ax’ + bx + ¢ = 0 ehl-@iledny (10
ax*+bx+c=0is
(A) 1 (B) 2 (C)3 (D) 4
(1) If o , P arethe roots of ceds afp Tl T x4 =0 2l pocaf (1)
Ix'—=x+4=0 then of is:
-~ ®) = © ! o =2
g, 7 4
(12) L + é is equal to: ' ~e s 1 + 1 (12)
o :
") — (B) = -+ ey @8 L
o o P ofd af
(13) Inaproportion a:bh:ic:d, a and d arecalled: -u_?i.l.bj/ d ol g ok aibsend % (13
A) Means J.l”; (B) Extremes Jz’) (C) Fourth proportional —-£#7 (D) None of these ufljfc,uiul
(14) If y? o L then i ylec 4 A e
x_'! K 1 x3
(A) y'=— B) y'=—= (C) pre=y? D) y'= Kkx’
o X
(15) A fraction in which the degree of _%Jﬂwf :f/.J/.LuLJ;;J:LC};J;GJPL)*U’/ (15)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction /._.ab
(B) An improper fraction ,/._,afs/;; (C) An equation /3L~ () Algebraic relation ul"f,S/-Jf

30(0bj)( ¥ I ¥<)-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) @ Ay

NIgVMBER: 3197 SSC PART-II (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| ke - ..;sf (T;f V) Pl
TIME ALLOWED: 20 Minutes OBJECTIVE u;?f,ﬁ e 20 = =
MAXIMUM MARKS: 15 15= AF

A oL J:iﬂ}':ﬁw&w/‘d:y'ﬁuua_uf ujfljafé_:éi.v&dlrﬁ{(éﬁé‘ﬁ -pﬁﬂzé.u D.C:B:-A .;«El;?;ﬁ;‘lf{:ulf!j/: e
.;..;{..J'r\_,fl -fi_.[f&)uj/;j:ﬁﬁ@ﬁ‘d/d_./:é JJ:jJ;’J *B&ﬁg:ghﬁ.rlﬁu}&gr::ur"u/i_/”/; s L LLJQ}?*JUJ&).:,.{’ _Z'_':
Note: you have four choices for each objective type question as A, B, C and D. The choice _V:/::J‘?j:.;. Uiy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 RS>
{1) Inaproportiona:b::c:d, « and d arecalled: ,ugz,i'»f d s a L a:bic:d <€ (1)
(A) Means u.‘h’; (B) Extremes u’i:’)’ (C) Fourth proportional —-F#7 (D) None of these ;,C‘;ch_.uful
2 1 5 2 1 ¢
(2) I y“oc — then < yrer — A (2)
X , K g 1 5 i *

A y'== ®) y'=— (C) y*=x" ) V' =k
(3) A fraction in which the degree of -c‘_SM n/.!/.gajgjcgJﬁf.afgjjfnﬂjlfufu)-/ (3)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction //_,, i
(B) An improper fraction /?».!sff (C) An equation =/sl~ (D) Algebraic relation J“’U,ﬁl
(4) AsetQ = { %\ a.beznb# ()}iscalledasetof; -%VM»‘-{ Q= {%I a,beznb# 0} (4)
(A) Whole numbers MIJ‘: (B) Natural numbers ;uIJuJ
(C) Irrational number Jlﬁiyt/:; (D) Rational numbers el P
(5) Power set of an empty set is: _.g_*:n-‘f:’u@_K.;fdG (5)
(A) ¢ (B) {a} (C) o, {aj} (D) {¢}
(6) A histogram is a set of adjacent: -J":’q-ﬂ‘?jcjg (6)
(A) Squares §Us (B) Rectangles ¥ (Q) Circles KU (D) Triangles KU
(7) In a cumulative frequency polygon frequencies -;.tw}%;ﬂ;}u'».oéi e W S (7)
are plotted against; (A) Midpoints LBk
(B) Upper class boundaries )m&’uJug (C) Class limits »w(3 7 (D) Lower class boundaries )mCﬁZ._)_‘_/}
(8) sech cotd = secOcotd = (8
) 1 1 sin@
) snd ®) cosB © sin® ©) cosH
(9) A chord passing through the centre of a circle is called: -:._:,t‘Lb:‘/};UUL;JJL };‘d:.:... Zl3 (9)
(A) Radius s (B) Diameter ):3 (C) Circumference k¥ (D) Secant (‘f’ﬁ'}?'
(10) Aline which has only one point in common with a circle is called: -c‘-t'LL:J/ S PB LAl S B (10)
(A) Sine of acircle  Sine e b (B) Cosine of a circle Cosine § s
(C) Tangent of a circle Tangent ke /i (D) Secant of a circle  Secant ¥« 7l
(11) The length of a chord and ¥ ,:JUU'};‘}}UE'.;‘_.::_}: _uf/_l,cug@r)ufu’bm'hja..‘;l)...l_./l (11)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30" (B) 45° (C) 60" (D) 75° )
(12) Aline intersecting a circle is called: et Bl (12)
(A) Secant ik (B) Tangent JV/ (C) Chord (D) Diameter 4
(13) The number of terms in a standard quadratic equation _.?.JIJJQ:@J ax’+ bx + ¢ =0 ahlrGledon  (13)
ax’+ bx 4+ ¢ =0 is:
(A) 1 By 2 {C) 3 (D) 4
(14) if w , [ arethe roots of - zlz of ;uﬁu'j)_f[_ Ixi- x4+ 4=0ab B . OL,JT (14)
7x' = x+4=0 then af is
(A - L @ 2 © < © 2
11 7 ¢ 4 ’ I
(15) ” 4 B is equal to: ~e sl &— + — (15)
"~ 6] iy o=t o2 =E
o a P af af

30(0bj)( T € V¢ $¢)-2022(A)-50000 (MULTAN)



2022 (A) fﬁ:{\\) ey

SSC PART-Il (10th CLASS) "

MATHEMATICS (SCIENCE GROUP) GROUP-II s - o) (O U S
TIME ALLOWED: 2.10 Hours SUBJECTIVE UL #2210 = =
MAXIMUM MARKS: 60 60 = /'/d{
NOTE: Write same question number d‘f_bzada__,{,glf,@éfZw/:}:b:l/:}dirgﬁsg(ésl}lﬁ cnl¥

and its part number on answer book, as given in the question paper.
SECTION-l .o

2. Attempt any six parts. 12=2x6 «é{f::a%’ﬁ[.ifl{cfdf _24 )
(i)  Solve by factorization. x> — x — 20 =0 Pex—20=0 -EJ6A25 0 |
(i)  Define exponential equation. -«:—‘.l:u—éf/’i'vi"d'!h*‘ét"&; (ii)
(i) Solve by using quadratic formula. 2 — x* = 7x e T R, SO X0 /oy = V1T 1§ 92 TR (1))
(iv) Find the discriminant of given quadratic equation. Vp? 4 Jp—=1=0 ~§§I'P’DL{J}E’:J;L»&J:» (iv)

(v)  Without solving, find the sum and the products of x? —5x +3 =0 wér}hfv/‘."f{pﬂl}ﬁE/UJJJ/_{‘{.{J_/J’}(&'JL/(;JJD (v)

the roots of the quadratic equation.

(vi) Find the cube roots of "—1" _ __i_:r,hf,,afﬂljjgs’ gt (i)
(vii) State thecrem of componendo-dividendo. _;{u,'!,.:,»,id*f’“:%@:f {vii)
(viii) Find 'x' if 6:x:3:5 Lk iyt Be 6ix 1305 0 (iii)
k p o t ;
(ix) If Aoc— and A=2 A= BEA P ey w2 A=24 A= S (%)
r ¥
when ¥ = 3, find '»' when 4 =72
3. Attempt any six parts. 12=2x6 g fewnlizigz e 3 340
(i)  Resolve into partial fractions __;_I__“. )1 _E Sk ()
x -1 ' x° =1 ,
(i)  Define partial fractions. WEATY {1 (1)
(i) ¥ X=¢, Y=2" thenfind XY ek XUY W Y=27 X =00 i)
(v) 11A=1{0,2,4}and B={ -1, 3} thenfind 4 x B E A BB ={ 138 A={0,2, 4}/ (iv)
(v) Findthesets Y and Y X x Y ={{a,a), (b, a) (¢ a)(d, a)} LS Y s X e ()
(vi) Define a function. S8k (i)
(vii) Define frequency distribution. _é-’/‘_@f&:%)ﬂ (vii)
(viii) Write two properties of arithmetic mean. -ﬁ;y%ﬂm@u (viii)
(ix) Find the range of the following weights of students: ek (B)) eyl s B o (iX)

110, 109, 84, 89, 77, 104, 74, 97, 49, 58, 103, 62
(Eilﬁn)



(Il  How many minutes are in two right angles?

(Vi)
(vii)

(viii)

5.(A)

(B)

9
Find tan® when cos® :ZI

Find '#'

Define the escribed circle.

The length of the side of a regular pentagon is 5¢cm.

NOTE: Attempt any three questions but

and

terminal side of the angle O s in fourth quadrant. ‘
|

Prove that (1 —sin’0 ) (1 + tan’0) =1

when: £ = 52cm, 0 = 45°

Define Acute angle.
Define tangent to a circle.

Define circumference of a circle.

SEC]

(2)
2=2x6

e lizg e b af)y

L E gt @)

9

,,z_"»#f tan® M Ll gl $BE 0 sl cosd = = A i
(1-sin’0 ) (1+tan?0)=1 Jylet (i)

0 =52cm, © = 45" GulpedS ()

Effme W)

-é&ﬂJJuﬁ;ju (vi)

LSl i

L fSmge i

[ION-Il /.2

24=8x3

Solve the equation 2x + 5 = \/7x + 16

f o, B arethe -_zfl’)”.;fu/i
o

roots of the equation 4x” — 5x 4 6 = 0. then.find

question No.9 is compulsory.

+é Il AxE~5x+6=0 =bs B o S

the value of 1_ oy _1

o
Using theorem of ¥ X= 4yz f/r_ér&‘”oafuf gt 2y g EF o2 LﬁL/JWﬁWMJ}Kf‘
yY+z ' x-2y x-2=z
2 + 2 =
componendo-dividendo find the value of FroY L W ox = b
x—-2y -2z V+z
I 2 ‘e
Resolve into partial fractions ——— 1__.1__%-_ -_é J:V L7
(=D (x+1) (x*~1)(x+1)

B=§{14,710F« 4

:{133553759} "U:{l,2,3,4,

Faf =41, 2,34, <=esns 10}, 4={1,3,5/7,9} B—A=BNA St
and B={1,4,7,10} thenverifythat B — 4+ BN A4’ )
The following frequency distribution shows the weights -éf:“"ula _:4,p)ﬁtb}((rf/;{)uuﬂﬁuﬂ:ird s
of boys in kilogram. Compute the mode.
Class intervals ». (2 1-3 4-6 79 10-12 13-15 16-18 19-21
Frequency i 2 3 5 4 6 2 1
Verify the identity %59 SN0 _ 5 osecd 1 +cosh , _Si® o cosect -Letlatle
sin@ 1 + cos@ sinf) I + cosO
6UIE -ust |CA| =3 #l|BC|=¢ 3| 4B|=[ 6 LA B b rnS o ABC slofol A
Escribe a circle opposite to vertex 4 to a triangle ABC with sides | AB] = Obcom, -_,‘é()“"”di‘(d'u
|BC|=4cmand |CA|=3cm. find its radius also,
Prove that the chords of a circle which are -ugé'_r;;f g VndelliGsboe S pn ndl eSS, et
equidistant from the centre are congruent.
OR |

Prove that any two angles in the same segment
of a circle are equal.

LAl unBi s s S e S St

32-2022(A)-40000 (MULTAN)

#

Find its perimeter. S LDLIKT . 5 duuré':’iu’ff"_.g (

ix)

Le i 9w ezl e § i

U/ 2x+5=[1x 16 =bl- (IS5

(L)

()

-6

£

()

()

o)

10} /1 (.7

-8

-9



/
RAPER CODE 2022 (A) / ng Py
NUMBER: 3192 SSC PART-Il (10th CLASS) N

MATHEMATICS (SCIENCE GROUP) GROUP-II oo (o SO FL
TIME ALLOWED: 20 Minutes OBJECTIVE (%> 2 | 220 = &b
MAXIMUM MARKS: 15 15 = /U‘

A JE L/JUa/U,.cbr‘J’W.._;_«J’_,JJc.U- Al i—f:g.Jc‘_L—*c_J'rP/dEUJ ~LhE r.f_.) D s CB-A ....LJJ’.IA:LJ!}’/ Y
/r";’:"! ¥ Jl _{/_lg_[:.u‘/f/dfuuw.ﬁr‘”d._./,# !65/'.! _E/)NJ.-‘lhv_'.,fﬁwJ&u*_.z»“'d ;/..._,{ L2 A | Jus/l}u.l: C-.-n.-g' -I‘::"'

Note: you have four choices for each objective type question as A, B, C and D. The choice _g,f/f;u“’}i-_—, Uiy

which you think is correct, fill that bubble in froiit of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that guestion. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) The quadratic formula is: o Uik (1)

e ~b t 4B~ 4(::: ®) x = lli_ﬂ__ dac ) x = —-h+ -\_;'h?' + dac D) x - b_f_ﬁiﬂ:‘f"w
2a 2a 2a 2a
(2) f o, P arethe roots of -z of ?w:ujuf_ Txi—x+4=0 s B « « /'ﬁi (2)
Ix*~x+4=0 ,then of is
w5 ® > © - o=
(3} Roots of the equation 4hx2 ~4x + 1 =0are; _ _uj_ruiucﬁétxz - 4x +1=0=hbl (3)
{A) Real, equal CEf) sl (B) Real, unequaljl'?r‘fb:‘c (C) Imaginary d’“’/ (D}irrataonal L}"L-f
(4) The third proportional of x* and )’ is; -a.._/wf*s“ Yooy (4}
.1 .4 =
" ®) Y’ @) L o) f_
(5) If a: b = X . ¥, then alternande property is: g _c_..,»q,l,w Matbh=x:1y J (9)
A
i x oy by b y X :
2 s: e . - (6)
(x-D({x+2) E " (x_l)gxf";)
(A) A proper fraction /;o.u (B) An improper fraction /..)!-/ (C) An identity edls (D)Aconstant term ﬁ; pi
(7} If number of elements in set A -d.-p}’.!')—"’L{UKJU AxB Ind £ B or 3 dSubit 4 ...wjl (7)
is3andinset B is4, then number of elementsin 4 x B is;
(A) 3 (B) 4 ) 7 (D) 12
(8) Thedomain of R = {(0,2),(2,3).(3,3),(3, 4)}is: dg_Jy‘ Dom R R ={(0,2),(2,3),(33), (3 9.0 (8)
(A) 0.3, 4} (B){0,2.3) (€){0,2,4) (D) {2,3,4}
(¢) Mean is affectd by change in: ‘ ,q_i:ﬁ;w.ﬁ!c.é_.);f,; }wld’w (9)
(A) Value =4 (B) Ratio s’ (C) Origin 2\ /%" (D) Number 1%
(10) The extent of variation between two extreme observations wiilt gﬂ(}}iau&;ﬂ;ﬁlmj (10)
of a data set is measured by:
(A} Average b~/ (B) Range =~ (C) Quartiles .Uly (D) Dispersion JE
(11) } + - i = : + : = (11)
1 +sinB 1 -sin® _ 1 +smn6 1-sind
(A) 2cos’6 (B) sec’0 (C) cosB (D) 2sec’0
(12) A chord passing through the centre of a circle is called: et S Sl i (12)
(A) Secant tft?):i (B) Circumference &5 (C) Radius (1 (D) Diameter ,h"’
(13) Two tangents drawn to a circle from s e LUV e Bl i (13)
a point outside it are of in length.
(A) Half i< (B) Double (/3 (C) Triple /o2 (D) Equal i
(14) Anarc subtends a central angle of 40” then et il »rb B3l -« 40° f;ijg,‘}?w 1.{* (14)
the corresponding chord will subtend a central angle of:
{A) 80" (B) 60" (C) 40° (D) 20°
{15) How many tangents can be drawn from a point outside the circle? ?ug“/ ; L Uc’:.c:..nﬁ'/l‘r’-a_/'} (15)
(A) 4 (B) 3 (C) 2 ) 1

32(0bj)( < }-2022(A)-40000 (MULTAN)



PAPER CODE 2022 (A) A
NUMBER: 3194 SSC PART-Il (10th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II s - ..,,/ (_,J ) Fl
TIME ALLOWED: 20 Minutes OBJECTIVE (5.2 220 = &y

Zaf .Jlm_ﬂ Fi_loly ""’/d:’u”._uﬂge_d/ ){J:/ frjr"wulfu); _,;r‘lfd._// /._.l‘:’ L .d_./,j/u s lans LJ&—J &)
Note: you have four choices for each objective type question as A, B, C and D. The choice _Jf J"/f»-_«ﬂlr
which you think is correct, fill that bubble in front of that question number, cn bubble sheat. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that questicn. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) The domain of R = {(0, 2), (2,3), (3, 3), (3, 4)} is: _.;_(Eyz Dom R 3R ={(0,2),(23.(3 .G O (1)
(A) {0,3,4} (B){0,2,3) (C){0,2,4} (D) {2.3, 4}

(2) Mean is affectd by change in: -r_»muulcx-uu - S J""QL’ )

(A) Value =4 (B) Ratio =’
(3) The extent of variation between two extreme observations
of a data set is measured by:
(A) Average L

(C) Origin 5L/&" (D) Number 4

G EGL s @
(D) Dispersion /&4

(B) Range = (C) Quartiles iy

1 1
" lma - ime = {+sin6  1-sing @
(A) 2cos*0 (B) sec’0 (C) cosB (D) 256(.‘29/
(5) Achord passing through the centre of a circle is called: _q..wkl/fqﬂhid}g:.}r/[.;?b (5)
(A) Secant &L (B) Circumference ¢  (C) Radius (/1 (D) Diameter #
(6) Two tangents drawn to a circle from Wl = };GZLJ.UJVQ’.);@;;,A‘EJL%L;.%Q (6)
a point outside it are of in length. ’
(A) Half 34 (B) Double &% C) Triple &t (D) Equal i
{7) An arc subtends a central angle of 40°then -t ST e g0 AISHSTIE ()

the corresponding chord will subtend a central angle of:

(A) 80 (B) 60° (C) 40° (D) 20°

(8) How many tangents can be drawn from a point outside the circle? ?ujég;{rvi’aﬂjﬁg&.}u (8)
(A) 4 (B) 3 (C) 2 (D) 1

(9) The quadratic formula is: ..c‘.'._”)“JbJJHJ (9)
(A) x = ~b & b~ dac (B) x= bt \jb_:__i-;t_“ = . \;[btmb-—élz e E”\HJ + dac

2a 2a 2a 2a
(10) If o , B arethe roots of e of fngul T -x+4=0 b B« @ A o)
Tx'-x+4=0 ,then of is:

w = ® 2 ©’ o=

(11) Roots of the equation 4x* - 4x +1 =0 are; _uguju£4f —4x +1=0xbl (11)
(A) Real, equal Jy il (B) Real, unequal d’"’ Izt (C)Imaginary j’:“?/:f (D) Irrational \}btﬁf

(12) The third proportional of x> and " e LAY Yo * (19

2 " 2

A % B) x*y’ © 2 ©) %5

(13) If a: b = x: y, then alternando property is: g ce e i aib=x: ZNE)
‘ 3:;2 a x at+b x+ a-b x-y
® 57y ® ;-5 e e L Ay

(14) 4 N . i spmnd L (14)
(x=1)(x+2) J T (x-1)(x+2)

(A) A proper fraction /..«:'l: (B) An improper fraction /_zl:/ (C) An identity =L D (D )Aconstant term /)d‘”’”
(15) If number of elements in set A4 anJuKJJ' AxB nd LB 2r s3 onus,lu, A __,,4,’; (15)

is3andinset B is4, then number of e!ements in 4x B is:
(A) 3 (B) 4 (C) 7

32(0bj)(

(D) 12

3 1¢)-2022(A

}-40000 (MULTAN)



PAPER CODE 2022 (A) pay

NUMBER: 3196 SSC PART-l (10th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-II oo/ (o PO S
TIME ALLOWED: 20 Minutes OBJECTIVE u"‘éf’,ﬁ e 20 = =Dy
MAXIMUM MARKS: 15 15 = /f

A oh L FAds 2y .zhf&l&f'cf_._,li._-f»c_d* s Al JZ:C.)LVL{J r/'/db/dljf ..u_'_?éé_) D s CB:A il j.rla[_JFrf -y
f)/./FrJJ € lDL?f//d}(J._dr"Jé—/C/ JL» #l frJr‘Jbiéu';’nJ:Ccu-uJﬂd/._/; Joy L :‘_,/,;KUUEJ»JLJ:_J Z0s
Note: you have four choices for each objective type question as A, B, C and D. The choice - ff J’f...my
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If number of elements in set 4 QIS Ax B I d B or #3050k 4 el (1)
is3andinset B is4, then numberofelementsin 4 x B is:
(A) 3 (B) 4 (C) 7 (D) 12
(2) The domain of R = {(0, 2), (2, 3), (3, 3), (3, 4)}is: _q_Jﬁ Dom R 3:R=1{(0.2),(23).(3.3.G.HLT (2
(A) {0,3,4} (B){0,2,3} (€){0,2,4} D){2,34}
(3) Mean is affectd by change in: NS S A R (| E AN )
(A) Value = (B) Ratio =’ (C) Origin i\ /&’ (D) Number 1«
(4) The extent of variation between two extreme observations _@gfdﬁéalﬁéwfu@m/ (4)
of a data set is measured by:
(A) Average L~/ (B) Range = (C) Quartiles .z (D) Dispersion /&
(6) b e = ==
I +sin® 1 -sin0 1+sin 1 —sinB
(A) 2cos’© (B) sec’@ (C) cosO (D) 2sec’®
(6) Achord passing through the centre of a circle is called: i t:IJg-'/};UhLJf;}'}LL}h (8)
(A) Secant Cf Fhs (B) Circumference b (C) Radius (M. (D) Diametger H
(7) Two tangents drawn to a circle from Jln 0 LEGLJuuvi;if;;aﬂdwﬁg.?mQ (7)
apointoutsideitareof ___ inlength.
(A) Half s (B) Double t/1s (C) Triple &/t (D) Equal L
(8) Anarcsubtends a central angle of 40°then  —c_bx IR0l e 407 USTANUAL (8)
the corresponding chord will subtend a central angle of:
(A) 80" (B) 60 (C) 40 (D) 20
(9) How many tangents can be drawn from a point outside the circle? ?ufikgu’ugaﬂﬁgég}b 9)
(A) 4 (B) 3 ey 2 (D) 1
(10} The quadratic formula is: - «LU'}i{f‘___ (10)
—-b + \b* - dac b+ b - dac b ‘bf + dac b+ b+ dac
= 2a = : 2a - gl e 2a WOl 5= — 2a -
(11) f « , P are the roots of s af }uﬁjué Ixl—x+4=0 b B ¢ a ,ﬁ (11)
Ix*— x + 4 =0,.then af is:
W = ® % © o =
(12) Roots of the equation4x® — 4x + | = 0 are; _J'u ;;éié&x —4x +1= O (12)
(A) Real, equal & s (B) Real, unequal & st (C) Imaginary &4 (D) Irrational L/
(13) The third proportional of x” and 3° is: -.-?-..l-f’Lr‘/fK y* ol x* (13)
}_i 22 W Xi
W =5 (B) x’y © 5 D) )
(14) If a:b = x: y, then alternando property is: s uin atb=x:1y 1 (14)
a_»b a _x a+b x+y a-b x-y
oy H ey R
. _ e
(15) o 3( T3y il £ G (e 2) (15)

(A)Aproperfracnon /...o.u (B) An improper fraction /’;;:l)/f (C) An identity s b (D) A constant term {Ju
32(0bj)( X T T )-2022(A)-40000 (MULTAN)



PAPER CODE 2022 (A) @ pan

SSC PART-lI (10th CLASS)

NYMBER: 3198

MATHEMATICS (SCIENCE GROUP) GROUP-II oo (o ) U
TIME ALLOWED: 20 Minutes OBJECTIVE u‘?/‘”.ﬂ? 2220 = =y
MAXIMUM MARKS: 15 15= Af

A B [Lf/h_m/‘u bl R uuhéf’ r_‘,Laf_Jl:’f/dKJI:’ 9, Z{_,« D s C B A a@fﬁiﬁgﬁwifﬂ
{2 {.;fr“t,r! _{;_Lgy ‘ L}JJ/J'-._.«J!'G\}/L/HI' }(,J/} _b&:’n"“hb...:.«!ﬁazluu-uxﬂqh_/rf: .‘f_‘,'{ b a‘_.f(/;!/u:f‘ln)yc_‘,\_«g S
Note: you have four choices for each objective type question as A, B, C and D. The choice ,;{f;d"}‘;:.«ﬂfr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

ey

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) The third proportional of x* and y* is: _4.../&?‘/:5/ yioa X (1)
2 4
#) 2 (B) x*)? © L B ==
(2) If @:b=x:y, then alternando property is: * z..._fﬂdul:’r ab=x:y / (2)
o & L4 B) 4% (C) at+th x+y (D) o ok
‘ x oy by b ¥ * #y
3 XHl s - g X+l (3)
(x-1D(x+2) T (x-])(x+2)
(A) A proper fraction /.,::F: (B) An impraper fraction /h.a's/ (C) An identity = (D (D )Aconstant term ﬁ;
(4) If number of elements in set A4 ,c,dymu’uw AxB d f Bir o3 St A .,rﬁ (4)
is3andinset B is4, then numberof elementsin 4 x B is:
(A) 3 (B) 4 )7 (D) 12 )
(5) The domain of R = {(0, 2), (2, 3), (3, 3), (3, 4)} is: _‘:‘_J.ﬁ' Dom R ¥R ={(0, 2), (2, 3), (3,3), (3, )} (5)
(A) {0,3,4) (B){0,2,3} (€) 10,2, 4} D){2,3,4}
(6) Mean is affectd by change in: _c_i:rul/la,z_/dy gl (6)
(A) Value = (B)Ratio sz’ (C). Qrigin mL/(‘;’ (D) Number 4
(7) The extent of variation between two extreme observations AL nlpbins @)
of a data set is measured by:
(A) Average Ll (B) Range <~ (C) Quartiles .A?UJL:?: (D) Dispersion .41
1 1 1 |
B TS ein®  1=gnB i 7508  1-so8 O
(A) 2cos’8 (B) sec’0 (C) cosb (D) 2sec’H
(9) Achord passing through the centre of a circle is called: -tk }:Ubi_:}i_"-}i‘cﬁa.fb (9)
(A) Secant rf’w (B) Circumference 5  (C) Radius (D) Diameter )ﬂ
(10) Two tangents drawn to a circle from gln LLGLGLJJL» é:r_iw Gale bl (10)
a point outside it are of in length.
(A) Half i (B) Double /3 (C) Triple Wit (D) Equal L
(11) An arc subtends a central angle of 40" then  .«_tw :Jlﬁd}f}{};jb?iw -« 40° ,_.«alid}f/b’u’}_.p (11)
the corresponding chord will subtend a central angle of:
(A) 80" (B) 60 (C) 40" (D) 207
(12) How many tangents can be drawn from a point outside the circle? ?Qgégﬁfdb’é’:aﬁ};gi‘; A (12)
(A) 4 (B) 3 (C) 2 (D) 1
113) The gquadratic formula is: i d.»_u:obdw (13)
(A)l__biiéj—ii&f: (B}x:bi\mgg (C)x:-bi b* + dac D) x - b+\r+4ac
2a 2a 2a
(14) If o, p are the roots of edi of Il Tyt xi4=0 ebe B o« o A (14)
Ix' = x +4=0then of is:
(A) 71‘ (B) g (C) % (D) :;'
(15) Roots of the equation4x’ — 4x + 1 = 0 are: _u_rLfyL 4x* —4x +1=0=lls  (15)
(A) Real, equal & i (B) Real, unequal & izt (C) Imaginary 54 (D) Irrational (Pt 4

32(0bj)( < I< I TE)-2022(A)-40000 (MULTAN)



BUARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN je /fﬁ
OBJECTIVE KEY FOR SSC ANNUAL EXAMINATION,2022. i

. Name of Subject: Maﬂemaﬁbf Session.__ 2630 — ’Q’)}y
Group: st . | Group:  2nd [ g
v \ [/

Q. | Paper Code | Paper Code Paper Code | Paper Code Q. | Paper Code | Paper Co% aper Code | Paper Code
Nos| 3191 3193 3195 3197 | |nes|3192 [3194 [319€ | 3/48
le ¢ |o» B 1| A B | D C
21 B ¢ |»p A 2 | B C &3 A

3| D A B B 3 | A B |C B _
‘1B _|Cc |& |D ‘¢ |» |p [
51A |G ¢ |D 5 | A D _|D B

6| B D B B 6| B D D £
1D |B |c B 12 ¢ D B

8 1 D A C C 8 | B C C D
| B B | A 5 s | C A C _|»

0] B D C C 10| B B A D

"] C D 5 C L i B E
12| B B D A 12| D " A C

B C B B C 131D A C A
14| C - A B 4] C B A B

51 A | B B_|D 5] C D B_|A

16 ; / / / 16 [ /

LA VA AR AR ! /

o] /| [ [T 1 | [

ol /L F 1/ T 19 I /

20| /| / 20 '

Keygﬁctf,?{.ﬂréaqh‘.‘:@’/
¥2022 sl /‘ 7, 7 :,,f *___ZZ 2 (_;0 f/ w"’é,(?

AU U Set Jbe o C Syllabus 24w e VIl 07 (Subjective & Objective)u’s 1.5 4 i

24U AUt 2 cﬁgUz/Q.‘i ‘_)’».’T'Ver:s.icmf "3 l»Jf...Q Lf"Versiondsz:lwl Kozdlrd PRl uwdf(fﬁﬁ/ 24
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